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PHILOSOPHY
[GENERAL)]
Paper : 1
[OLD SYLLABUS]
Full Marks : 100 Time : 3 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

GROUP-A
re-=

(Marks : 50)
1. Answer any four questions: 1x4=4
R-(I BTS2t T s ¢
1)  What is sapaksa ?
AAT 2
1)  What is aprama ?

REIESE

[Turn over]

111) What is parﬁmars/a?
sfare Fe

iv) Give an example of visamvyapti.
Raifes @3 Srgd s |

v)  Give the laksana of the Hetvabhasa.
(XY &% W€ |

vi) What is the karana of anumiti?

e T3 2

2.  Answer any six questions: 2x6=12

@I BRG Aeas Teg S g
1)  What is Badhita Hetvabhasa ?
qifge erer He
i1)  What are the characteristics of sad hetu?

7 (F9d RHPral F Fe

111) Distinguish between anvaya and vyatireka
vyapti .
T ¢ PleES I Ty #4146 T4

iv) Why paramarsa is  called trtiya

linga paramarsa?

A ol ot o JeT =8 (e
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Vi)

vii)

viii)

Give an example of kevalanvayi anumiti.
TR SRfen @36 Trizgel wie |
What is upadhi ? Give an example.

Ty Fe @3 Trizad wie |

Give one example of samavyapti and

visamavyapti each.

Tt e fawanfes aresha @t I
TWIZFe W |

'The jar has colour because it is a

substance'— Name the fallacy of hetu.

WooT Mol Wi FRE O WG — @B @
Wi wB 2

Answer any four questions: 6x4=24

@~ vRfb 2riw Ted mie ¢

)

15(A)0S

'Pain is pleasant since it is a state of mind'—
Write down the anumana in the structure of
pancavyavi nyaya and name the fallacy of
the hetu.

TN SIS (TS O N SR — @3
SN LRI TR SAFIE G R
@ofoa miw s <41
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iif)

Vi)
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Write down the distinction between
svathanumana and pararthanumana with

examples.

T € LT 2N L Tuizgeriz @72 |

What is asiddha hetvabhasa ? What are its
different kinds and give example of each of

them.

ST (@gre I 2 97 aFFrenele F A
ATOIT AFIED THIZAE WS |

Explain the concepts of paksa, sadhya and
hetu according to Nyaya .

TR SEPIE 77, A, @99 doaer
<P

Analyse Vyapti as 'Sahacara Niyama'. What
is the role of 'bhﬁyodar's/ana in the context
of Vyapti ?

repst e el il el 51 <pife et
CFa TR il Fe

Explain the concept of parﬁmars/a with

example. Does anumiti result from paramarsa
by itself?

A ORI SRIRRePTR 1] T | SRS F
TG A (AR T =2
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Answer any one question: 10x1=10

@@ 9B AT T wie ¢

i)

iii)

15(A)0S

What do you mean by Hetvabhasa ? What are
its different kinds? Explain with illustration

each form.

@YeM FF IAE? @I I eFE € J
Jl? YREAR AOIF & P |

Explain with illustrations kevalanvayi,
kevalavyatireki and Anvaya-vyatireki

inferences.

@I, (FIATOET A3 TFI-J SR
Sl YBR[ T |

What do you mean by paksata? Discuss the
role of paksata in the context of anumiti in

details.

Sl FEICE F (@RI 2 SRS 2FFei B!
I ©f RN D 9
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GROUP-B
freta-2

(Marks : 50)

Answer any four questions: 1x4=4

@~ DR 2rid Ted T ¢

5.
i)
ii)
iii)
1v)
v)
15(A)0S

'All men are mortal hence some mortal
beings are men'— Name the fallacy occured

in this argument.

e S T A oK (e (e TFe
Gl 27 W — Ifelre F @ whrz?

Write down symbolically the negation of a

tautological proposition.

GG FCOPTS) 60T WELF 6B ALICO
(Gl

Give an example of an argument-form.

@F IE-FET TN WIS |

Give an example of cause as sufficient

condition.

R WA TR G0 Triggd W |
Give the form of a hypothetical proposition.
G AT IveI SR (NS |
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vi) Give an example of an immediate inference.
ST A G0 SHIRde 1e |
6. Answer any six questions: 2x6=12

@@ 26 A TEF 7S 3

)

iii)

15(A)0S

Show the symbolical structure of the method

of concomitant variation.
Te-sAfzaee safen efesife SIwRn @e |
Express in Venn-diagram:
coAbea e 59 ¢
a)  Nothing is both round and square
I %2 G0 (ST @ Socal 7%
b) All non-S is P
I -5 2F P

What is a class? What is a complementary

class? Give example using symbol.
AN 2 AT @ Fh 2 ARCFCO Twizgel Wi |

State the rule of syllogism the violation of

which leads to the existential fallacy.

TR (I T 167 T TR TF AR
qh— O T |
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Vi)

vii)
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If PVQ is false then, what is the truth-value
of P=q?

If p=false and q is true then, what is the
truth value of ~p=(~pv~q)?

M PV q R O=RE, P =q-93 AGRET F 2R ?
I p= MYT 98 9= AT] 'F O,
~ps(~pv~q) a9 o3& N
IS

Give the logical forms of :

i S wie 3

a) Men are honest
T A

b) 70% students are not meritorious.
oFA| 20 Olo BER (NI T |

Test the validity of the following by the
method of Truth table:

EeResE TemRd swfeq M @ae!
5" 9 ¢

pv~p/..p



7. Answer any four questions: 6x4=24

@~ vRfb 2riw Ted mie ¢

i)

ii)

iii)

15(A)0S

a) Distinguish between mediate and

immediate inference with examples.

TS 8 SIS ST A1 Trizger=
@ |

b) Obvert the following propositions:

i ameEe [ess 9 ¢

No euthymen is incomplete [non-

complete]
There are idle men.
@ R T TP W
BT N[eJF A= |
Explain Mill's Method of Residues.
et effte ~Afea orafe = <=

Test the validity of the following by means

of Venn diagrams:
|AJ-IT figure
FESAPO

None but the good are to be envied. All truly
wise men are good. Therefore, all truly wise

men are to be envied.

[9] [Turn over]
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fxfeeslm e Tium Ryet e
9 ¢

AR A
FESAPO
SIEN @F QO O (FC FH @6l 77 | A
g4Fe @il T S FEF | oI I &4F©
Tl e FHT @i |
a)  What is the relation between 'truth' and
'validity'?
TeTel € (RASIA N T T2
b) Mention two rules of distribution.

AIPTeR qio 77 T I |
Test the validity of the following syllogisms:

e Tmefr @ [ 59 ¢

a) A straight line is never curved. Only
straight lines can be the sides of a
triangle. So, the sides of a triangle are

never curved.

GFH AIARA FAAe &F@ T AT
(FITNG ATRRR. @I fagrea a2 20e
ANE | FoAR Tered T2 I8 (JF T
ol



Vi)

b) E10-1V figure.
E10-59% 2 |
Give an illustration of existential fallacy. Why

are not the contrary oppositions of

propositions accepted in the Boolean Logic?

SRETEF MR GF6 THIZI W€ | FoA IR
R SfeiETel KAkl FiFe T &2

Answer any one question: 10x1=10

@@ 9B AT T wie ¢

i)
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Explain and examine Mill's Method of
difference with concrete and symbolic

examples.

e ot JfeER smfe AT ¢ AR eF
TVRACEE AR IR0 ¢ [/e F41

Test the validity of the following arguments

by means of truth table:

ke Ffewhr TopRan ARE &Ll
RoE 39 ¢

a) A>(NvQ)

~(Nv~A)/.ADQ

b) (p>q)> (r.s)/ - (pq)> [(p.q).(r.s)]
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iii)

15(A)0S

What is existential import? Discuss
Traditional interpretation regarding existential
import of categorical propositions and justify

the traditional square of opposition.

TR Oy FF A2 WHF B
Aol 2 Tol5feF SRY SNENH 1 @<
sforsfes Ry vorEe Rom |



